Al A

A =EAEA
3 ot HIXc
Chol: TN AR (SEHASEE) (el o)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
=LA A 37,105,979 43,577,669 26,471,690
= 24,197,992
Jl 6,221,654
= 1,135,000
Ea 5,551,333
ots=2l &l 35,967,889 43,577,669 A7,609,780
= 24,197,992
) 6,221,654
= 1,135,000
= 4,413,243
SZONE A (SEIHESES) 36,%7,889 43,577,669 AT,609,780
= 24,197,992
Jl 6,221,654
= 1,135,000
o 4,413,243
BHI|IZAIE 252 50,000 100,000 50,000
401 AlZHIZ SO 50,000 100,000 /50,000
01 A28l 50,000 100,000 /50,000
OstBIIZAIE THollthll 2182 ==t 50,000
SFII=NE 2E 811,111 1,382,492 A571,381
201 Ler23 | 463,920 708,720 A244,800
01 At2t2lt] 4,920 4,920 0
O=ZZM =2 2,920
OgAN=RA BL+ 2,000
02 S3=gHl 459,000 703,800 A\244,800
OMWSE &I =Al2el 110,000
O&t=46t+= 8 3IHI (Gt== = 3lHl) 2,000
OB Eot=HelNE S5 100,000
OUZ2=XelANE S83Rs 82,000
OOISot=HMelAE (2401 2) B323 100,000
OIEEL33HIANE B3R 65,000
202 04| 4,000 4,000
01 =LHO LI 4,000 4,000
O=&acgde =& 4,000
401 AlZHIZL RO 331,180 642,240 A311,060
01 Al&HI 331,180 642,240 A311,060
O33ot=ZAIE JI=Te (DL, 2], dZ
, 29h) 163,180
OUMBIot=HelAE HAHHMLIANE(BE
=) E=3At 55,000
OARL2S3dot=HMelNE 22T uM(ZE,
A=, 01, AIRY) 113,000
403 MR HHMSAH=01H 12,011 27,532 A15,521




A =EAIEA
B gho] HExe
cel: SEHEAMG (SEIHNESESIA) (SH &)
SA - BE - 9(3H) - KA - BES Ol &t G o B2
02 B 2SHICHEHAH2 X L EFALS I 12,011 27,532 15,521
O336t=2Z2 J|=&I(Ho) 12,011
SAII=AIE 2c|HE 2L 8,158,339 5,049,738 3,108,601
= 3,763,992
| 2,397,654
i 1,996,693
307 QI2H0| A 4,131,889 4,158,738 226,849
| 2,288,156
= 1,843,733
05 EIR”IAE S 4,131,889 4,158,738 N26,849
OddZZot=Held 2 2,297,377
| 1,302,709
i 994,668
Oz2=zHdeld 29 297,8%
| 162,544
= 135,352
ON=2eHeld 299 696,982
| 338,619
= 358,363
Oltsot=& 2¢ 839,634
| 484,284
s 355,350
401 AIEHIZL 28I 3,899,992 831,000 3,068,992
= 3,763,992
| 60,750
s 75,250
01 AlEHI 3,899,992 831,000 3,008,992
ORLIE2 =SS HelAIE HESA 136,000
| 60,750
[ias 75,250
OB BotsHelAlE THHEFRSA 3,763,992
= 3,763,992
403 XX SHHSKH=01A 126,458 60,000 66,458
| 48,748
i 77,710
02 I/ 2SOCHet A2 E 2 EFAIZ I 126,458 60,000 66,458
O336t=xelAld et 408 ==
= 60,000
O336t=22 Jla=de(=el, 2I1) 66,458
| 48,748
s 17,710
OS5t E RIZHHAA (22 +H) 115,000 220,000 A 105,000
201 2E2 ] 35,000 70,000 235,000




A =EAEA
3 ot HIXc
Tl SEIPMAIR (S EINESE S| H) (o) &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
02 S5=g4l 35,000 70,000 /35,000
O3 OtSdt=Z (L) 3323 35,000
307 elzto| & 80,000 150,000 70,000
05 212t =S 80,000 150,000 70,000
O+ OtSot=(40HA) 29 80,000
=E2NEs A2 20,000 20,000
207 ARl 20,000 20,000
01 A S| 20,000 20,000
Otd==Al =ZHEAM HE 24 20,000
Ot==2tHEH| BTLAIY AR 83,452 83,452 0
201 er2 3| 46,880 46,880
01 At2t2lt] 26,880 26,880
Odt=Z HEH| BLEUH2gE I ===
220,000 562 +43] 5,280
OBTLRY+E BOAZBAL 248
450,000 * 1271 2 +43] 21,600
® 2=2H| 20,000 20,000 0
OBTLAI2 Z223 20,000
206 Tl 572 572
NEER 572 572
OBILR Y% 2TAMS T4
572,000 *14] 572
403 MR EHSAHE01H 36,000 36,000
02 SISOt =2 A P E A I 36,000 36,000
OQulatZ G2t Al 2HE 2IRIAIS (BTL)
=mnistpl, 9,000,000 *42] 36,000
St=2 1| BTLAMY AR (2HI) 4,145,987 4,005,987 90,000
= 2,316,000
Jl 668,000
s 1,161,987
402 2I2F X201 & 4,145,987 4,085,987 90,000
= 2,316,000
Jl 668,000
Ea 1,161,987
03 2IZ+RAETAIEHI 4,145,987 4,005,987 90,000
Oz ot=Z2FH| AUE 2UXAIS(BTL)
ANEgU= 3,429,000
= 2,316,000
Jl 668,000
Ea 445,000
Oz St=22HH| AUE 2UXHAIS(BTL)
ageslal 716,987
HENSY 2el 190,000 429,000 A\239,000
Jl 190,000




A =EAEA
B gho] HExe
el SEINEAS (SRINESESIA) (SH &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
401 Al HIZL 2018 190,000 429,000 A\239,000
Jl 190,000
01 AlZ8| 190,000 429,000 239,000
OUEH=sY sAl2el 190,000
7l 190,000
& AnE233olek HEAMY 779,000 10,696,000 /9,917,000
Il 779,000
401 Al HIZ 2018 779,000 10,696,000 29,817,000
Jl 779,000
01 Al&HI 500,000 10,161,200 29,661,200
ORE AR2E3ot+ A& 500,000
7l 500,000
02 Zeltl 279,000 534,800 A255,800
OR& AntE2ESotek AL A 2l 279,000
Jl 279,000
Y A2EEote ALAEY 6,659,000 6,295,000 364,000
= 5,330,000
Jl 1,011,000
== 318,000
401 Al HIZ S 0HbI 6,659,000 6,295,000 364,000
= 5,330,000
Jl 1,011,000
=S 318,000
01 Al&H| 5,993,100 5,980,250 12,850
oY An2E3o+k HE 5,993,100
= 4,797,000
Jl 909,900
= 286,200
02 Zeltl 665,900 314,750 361,180
OZY A23 3ot A4 2l 665,900
= 533,000
Jl 101,100
= 31,800
sS4 HEQSENZAIA 575,000 575,000 0
Jl 400,000
= 175,000
401 AlEHIZ S 0HbI 575,000 575,000 0
) 400,000
[Ea 175,000
01 AlZH| 575,000 575,000 0
OBIE2E8NTAIE =Al2 575,000
Il 400,000
s 175,000




A =EAEA
B gho] HExe
Tl SEIPMAIR (S EINESE S| H) (o) &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
N= sO0EDSol=S EHIAY 7,372,000 6,430,000 942,000
= 6,592,000
Jl 437,000
= 343,000
401 AlEHIZL SO 7,372,000 6,430,000 942,000
= 6,592,000
Jl 437,000
= 343,000
01 AlZ28| 6,654,886 6,108,500 546,386
OAMl= s0E0IS0ot+= SHIA 6,664,886
= 5,952,306
) 393,537
< 309,043
02 Zeltl 77,114 321,500 395,614
OAMl= sO0EDS0te JUIAtg 2l 77,114
= 639,694
) 43,463
< 33,957
20+ sOHEOSote HIAY 96,000 877,000 A781,000
Jl 96,000
401 AIEHIX SO 96,000 877,000 /781,000
) 96,000
01 Al&HI 96,000 877,000 /781,000
OO0+ sHEOS0+5 JUIA 96,000
Il 96,000
=8 sOEOSot= EHIAY 223,000 108,000 115,000
= 212,000
= 11,000
401 AlEHIZL S0 223,000 108,000 115,000
= 212,000
s 11,000
01 Al&HI 181,070 102,600 78,470
=8 s0E0tSol+=T MY 181,070
= 171,720
[ 9,350
02 Zeltl 41,530 5,400 36,130
O=2Y sHENSot=T ZHIA 41,530
= 39,897
= 1,633
03 Al 20HHI 400 0 400
O=2Y s0E0t=ot+ SHIAY 400
= 383
== 17




S 2TAIRA
A 5140 HEI2
SRl SEINLA (SRNLSESE) (crol: M el)

A - EE - SA(BIH) - KIRAR - A HIDE2

24 sOoESote=E SEA 334,000 161,000 173,000
= 318,000
S 16,000

401 AlZHIZ S 0HbI 334,000 161,000 173,000
= 318,000
< 16,000

01 AlIZHI 262,420 152,950 109,470
OZd sHENSote=k SEAY 262,420
= 251,220
== 11,200

02 Zteltl 70,864 8,050 62,814
OZYd s0E0IS0l= SEAMY 70,864
= 66,112
S 4,752

03 Al =2 0HHI 716 0 716
O2d sOoEltSote=k SEAY 716
= 668
= 48

= SOHEONSot=E A 105,000 105,000 0
= 100,000
= 5,000

401 Al HIZL 201 105,000 105,000 0
= 100,000
S 5,000

01 A=l 88,250 99,750 A11,500
Og= soEltScts=k 88,250
= 84,000
< 4,250

02 Zcldl 16,575 5,250 11,325
Og=s sHENS=E 16,575
= 15,840
= 735

03 Al S CHYI 175 0 175
Og= soEltScte=k 175
= 160
S 15

oteh SO01EDISot=E EHIALY 243,000 105,000 138,000
Il 243,000

401 Al HIZL 201 243,000 105,000 138,000
Il 243,000

01 AlZHI 243,000 99,750 143,250
Odhet sHENSot=E 243,000
Il 243,000




A =EAEA
B gho] HExe
Tl SEIPMAIR (S EINESE S| H) (o) &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
MBIot=HelANESE A 216,000 863,000 647,000
= 185,000
== 31,000
401 AIEHIX S0 216,000 863,000 647,000
= 185,000
< 31,000
01 A28l 194,400 819,850 A\625,450
OUMESot=XICIANESE A 194,400
= 166,500
= 27,900
02 2l 21,384 43,150 N21,766
O ESEot=MelAIESEAY 21,384
= 18,315
s 3,069
03 AIZ2THYI 216 0 216
OIS S0t A ESEAY 216
= 185
= 31
H¥ sOE0tSot+= EdIA 1,113,000 324,000 789,000
= 1,030,000
= 83,000
401 AlEHIZL S0 1,113,000 324,000 789,000
= 1,030,000
== 83,000
01 Al&H| 1,113,000 324,000 789,000
O"¥E=s0lE0tSots= HIAY 1,113,000
= 1,030,000
< 83,000
2E SO0 ENSot=X: EHIAY 213,000 136,000 77,000
= 202,000
= 11,000
401 A2 HIRL R 0HbI 213,000 136,000 77,000
= 202,000
= 11,000
01 Al&H| 191,700 136,000 55,700
OZ & s0E0I=0t+ SHIAY 191,700
= 181,800
== 9,900
02 Zcltl 20,235 0 20,235
OZE sO0ElISot+=T SHIA 20,235
= 19,190
= 1,045
03 Al 20HHI 1,065 0 1,065
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B gho] HExe
CH9l: SEOHMAI (SRS SHEIH) (Crel: a2
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OZ & s0E0l=ot+ SHIAY 1,065
= 1,010
== %5
S8 sOENSO=T SEMY 687,000 466,000 221,000
= 653,000
= 34,000
401 Al HIZ S 0HHI 687,000 466,000 221,000
= 653,000
= 34,000
01 Al&HI 618,300 466,000 152,300
O&Y s0E0IS0l+= SEAMY 618,300
= 587,700
=S 30,600
02 Zeltl 67,360 0 67,360
O&H sO0ENISo=E SEAY 67,360
= 63,994
S 3,366
03 Al 20HHI 1,340 0 1,340
O&8 sO0E0S0trE SEAY 1,340
= 1,306
S A
== sOE0Sols=E SHIAY 706,000 478,000 228,000
= 671,000
< 35,000
401 A& HIX R0 706,000 478,000 228,000
= 671,000
== 35,000
01 AlZ2H| 584,000 478,000 106,000
O+==d sOElISot-E JHIAE 584,000
= 556,000
= 28,000
02 Zeld| 120,780 0 120,780
O#+=d sHEOS0os+E JuAe 120,780
= 113,850
== 6,930
03 AIZSTHYI 1,220 0 1,220
O+==d sOHElI=ot= JHIAIE 1,220
= 1,180
= 70
o sOENSo=E SEAME 502,000 336,000 166,000
= 445,000
= 57,000
401 AlZHIZ S0 502,000 336,000 166,000




A =EAEA
B gho] HExe
CH9l: SEOHMAI (SRS SHEIH) (Crel: a2
SA - ZE . BR() - HRAR - BES of v G o HIDE2
= 445,000
=S 57,000
01 Al&H| 451,800 336,000 115,800
OFot sO0ENIS0l+E SEAY 451,800
= 400,500
< 51,300
02 Zeltl 49,698 0 49,698
OFot sO0ENIS0=E SEAY 49,698
= 44,055
= 5,643
03 A& S CHYI 502 0 502
Ot sOELIS0trE SEAY 502
= 445
s 57
&8 SO0ENSO=T FBIAY 671,000 324,000 347,000
= 621,000
S 50,000
401 Al HIZ S OHbI 671,000 324,000 347,000
= 621,000
= 50,000
01 Al&HI 671,000 324,000 347,000
Otlg s0lE0tS0t+= SHIAY 671,000
= 621,000
= 50,000
¥ s0E0NSo=T EHIAY 433,000 0 433,000
= 401,000
[ 32,000
401 AIEHIX S0 433,000 0 433,000
= 401,000
= 32,000
01 AlZ2H| 433,000 0 433,000
T3 sOHENSO+=TEHIAY 433,000
= 401,000
= 32,000
stets+H sOHE0ISot+=S EHIAY 495,000 0 495,000
= 458,000
== 37,000
401 AIZHIZ R0 495,000 0 495,000
= 458,000
< 37,000
01 A28l 495,000 0 495,000
Ostes+H sHE0tSot=ZEbIA 495,000
= 458,000




A =EAEA
B gho] HExe
Tl SEIPMAIR (S EINESE S| H) (o) &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
| & 37,000
&1, 2=, KE, 2= sHENSo T dHIAE 324,000 0 324,000
= 300,000
= 24,000
401 AlEHIZL SO 324,000 0 324,000
= 300,000
=S 24,000
01 Al&H| 324,000 0 324,000
O], 25, N&, 25 sHENS0sE
I 324,000
= 300,000
< 24,000
=Y sOHEOSo=EHIAY 324,000 0 324,000
= 300,000
= 24,000
401 A2 HIRL R 0HHI 324,000 0 324,000
= 300,000
S 24,000
01 Al&H| 324,000 0 324,000
O=2Y sOoE0ISot==dHIAE 324,000
= 300,000
== 24,000
=g, =g, 72, 24 sOENSot+=TdHIAE 324,000 0 324,000
= 300,000
= 24,000
401 Al HIZ S 0HHI 324,000 0 324,000
= 300,000
= 24,000
01 Al&H| 324,000 0 324,000
59, 9B, 78, M SOENSHEE
SHIAE 324,000
= 300,000
== 24,000
Heas(=TAL) 1,138,090 0 1,138,090
SBEIS(=EMLELSIA) 1,138,090 0 1,138,090
B3 (=EHd) 1,138,090 0 1,138,090
802 gtet=J|IEt 1,138,090 0 1,138,090
01 FNBXIBHE= 1,138,090 0 1,138,090
OAtel sO0lE0IS0l+ SHIAIY ot
Bt 1,138,090




